
Lecture 17 - Nov. 7

Inheritance

Implementing a Child Class: Principles
Visibility: Class, Attribute/Method
Static Types: Expectations
Polymorphism: Intuition



Announcements/Reminders

• Lab4 released (ProgTest3 on November 20)
• Guide & Questions for WrittenTest2 released
• Materials for In-Lab Demo on Inheritance released
• ProgTest2 results & feedback Monday Nov 11



A Collection of Students (without inheritance)
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Recall: Student Classes (with inheritance)
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Visualizing Parent and Child Objects
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Testing Student Classes (with inheritance)
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Modifiers in Java
-classes

O private

protected
inheritance on publicodifier - attributes/methods



Visibility: Classes
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Visibility: Attributes and Methods

public class Chair {
   private int w;
   int x;
   protected int y;
   public int z;
}
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Student Classes (with inheritance): Expectations
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Intuition: Polymorphism
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